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I can subtract numbers using a formal method.
* I can subtract numbers with up to three digits.
* I can subtract numbers crossing the tens boundary.

* I can subtract numbers crossing the hundreds boundary.
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Share Your Secrets
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292 - 100 =

()= ()= (=) =)+
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Share Your Secrets

239 + 100 =

()= ()= (=) =)+
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The plants in the garden have grown so much that they need to be
pruned Can you help work out the new height of each plant’)
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The plant was 684cm tall. The plant was cut 257cm shorter.
How tall is the plant now?
B I - S ) N 7, Y
Look at the ones column.

Ll NN 7IE N N RN 7 TRl 1 N A ‘ 1
Subtract the ones in the bottom
row from the top row.

B 117 v . R V111 107480 150t §
4-17 = |
| This cannot be done, so we need
#d  to exchange a ten from the tens
¥ column for 10 ones and regroup
' these into the ones column.
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The plant was 684cm tall. The plant was cut 257cm shorter.
How tall is the plant now?

SR 1 - SN N W W ., NP/

Look at the tens column.

| NN/ 720 P55 . N N 7 PR & 1 N A

Subtract the tens in the bottom
| row from the top row.
._.uwr"mmn I I D P /AL VARV r; :‘

7 tens - 5 tens = 2 tens.

{ II-HI-II o ANSOWWYNSW NWINATUN /7 )

Write 2 in the tens answer.
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The plant was 684cm tall. The plant was cut 257cm shorter.

How tall is the plant now?
W 1 - S I NN W V0 7, Y \Pz

{ Loole at the hundreds column. |
H 0 | Subtract the hundreds in the
67 Zl- | bottom row from the top row.

v ._.uu'r"mmn L~ SRS PNV W77, B B BT r; .‘

L 6 hundreds - 2 hundreds A
2 7 [ = 4 hundreds

Wrtte 4 in the hundreds answer.

684 257 427 ,

427
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The plant was 684cm tall. The plant was cut 257cm shorter.

How tall is the plant now?
I g N L T 7, Y197 1
Look at the ones column.
Subtract the ones in the bottom
row from the top row. |
4-17 = |
This cannot be done, so we need

to exchange a ten from the tens column

for 10 ones and regroup these into the
ones column.

ey
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14 -7=17

Write 7 in the ones answer.
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The plant was 684cm tall. The plant was cut 257cm shorter.
How tall is the plant now?

SR 11 S N N W W 7., Y0P/
Look at the tens column.

| NN/ 720 P55 . N N 7 PR & 1 N A ¥ ]

Subtract the tens in the bottom

rrni ’

| row from the top row.
B e VI 7 N I P I PO R Y VOV r; :‘

7 tens - 5 tens = 2 tens.

o o v e I B
o o v e I B
15 2] 5 O O
15 2] 5 O O
15 2] 5 O O
o o v e I B

| A
o A
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Pruning the Garden
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The plant was 684cm tall. The plant was cut 257cm shorter.

How tall is the plant now?
| N 5 S I | N - I 7, ¥

Look at the hundreds column. |
H : I Subtract the hundreds in the

| bottom row from the top row.
._.ml'r"!man Lo W W RS PINIY WINWOAWZ7 . T Bl BT b :
Y | [

rrni ’

6 hundreds - 2 hundreds

427

Write 4 in the hundreds answer.

-

=T = T =

684 - 257 = 427
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The plant was 347cm tall. The gardener cut 152cm off the plant.
What is the height of the plant now?
’ S 1NN S S S S 0, ¥ R

Loole at the ones column.

| NN/ 720 P55 . N N 7 PR & 1 N A ¥ ]

Subtract the ones in the bottom
row from the top row.

= lel FF 1 H FU Ryl LN JRE R /AR T 1 IE ,{ :
1

7 -2 =5o0nes .

A1 - T 1 0 b NONWUNNWWWIATING A ) )

Write 5 in the ones answer.
' = — AR
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The plant was 347cm tall. The gardener cut 152cm off the plant.

What is the height of the plant now?
’ S 1NN S ) S S 0,
Loole at the tens column.

| NN/ 720 P55 . N N 7 PR & 1 N A ¥ ]

Subtract the tens in the bottom

rrni ’

row from the top row.
adlliael B ] Sy gk iE JERNEEV |\ // AN H B IE b :
v
4 tens - 5 tens =

<] This cannot be done so we need to | ¥
4 exchange one hundred for 10 tens
?,?' and regroup these in tens column

14 tens - 5 tens = 9 tens. ﬂ
erte 9 in the tens answer. = c

=)\ )\, ?LUL?LUL
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The plant was 347cm tall. The gardener cut 152cm off the plant.

What is the height of the plant now?
’ S 1NN S S S S 0, ¥ R
Loole at the hundreds column.

| NN/ 720 P55 . N N 7 PR & 1 N A ¥ ]

I Subtract the hundreds in the
bottom row from the top row.

rrni ’

2 hundreds - 1 hundred =
1 hundred

e s\ e \ (| NIRF/V/1 AT

Wrtte 1 in the hundred answer.

347 - 152 = 195 ,

ot
..7:“ =

195
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The plant was 347cm tall. The gardener cut 152cm off the plant.

What is the height of the plant now?
T ] ) N S S 0, ¥

Loole at the ones column.

T e\ S I IR =7 T m 1 T A s ‘ ;
Subtract the ones in the bottom
row from the top row.

s leal B ] 8 O SUCNEE g iR PRIV R \ /AR | &
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The plant was 347cm tall. The gardener cut 152cm off the plant.
What is the height of the plant now?

T T T U WU TN AT
Loole at the tens column.

N W\ W/ G W S ] P I G B § L= e -y - T & !

Subtract the tens in the bottom
L row from the top row.

rrni ’

4 tens - 5 tens =
This cannot be done so we need to
exchange one hundred for 10 tens and

7 regroup these in tens column.

14 tens - 5 tens

1
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The plant was 347cm tall. The gardener cut 152cm off the plant.
What is the height of the plant now?

T T T U WU TN AT
Loole at the hundreds column.

| NN/ 720 P55 . N N 7 PR & 1 N A ¥ ]

I Subtract the hundreds in the
bottom row from the top row.

==~ (lay B 1 1§ F-UNuis O e JFINEEY N \ /a8
1

2 hundreds — 1 hundred =
1 hundred.

rrni

Ko

347 - 152 = 195 Wrtte 1 in the hundred answer. ’ c

w.mr &

) Qi i Gﬁiué&iu

£
.'




@YﬂYﬂYﬂYﬂYﬂYﬂYﬂYﬂYﬂ (=

ol | Gardening Equipment

N ls 'm‘ \‘\\ TA

The sale is on at the garden centre. Can you help the
shopleeeper work out the new prtce of each item?
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The sale is on at the garden centre. Can you help the
shopleeeper work out the new price of each Ltem7
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The sale is on at the garden centre. Can you help the

shopleeeper work out the new price of each item?
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i | Gardening Equipment
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The sale is on at the garden centre. Can you help the
shopkeeper work out the new prtce of each item?
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’Gardening Club Matcl Gal'dening Club —
Ve Vegetable Patch Game

[ I can subtract numbers up to three digits using a fo

Attach the petals, using a glue stick, to the correct flower.
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If the plant cost 536p and it was reduced by 148p,
the new price must be 412p.
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If the seeds cost 101p, I couldn'’t reduce the price by 30p
because there is a O in the tens place value in 101.

1] IR ;ﬂq
4
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” ;{ Robert Gardener 2.
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There are 54 plants. If I wanted to put 36 plants into the van,
there must be 22 plants left.

LNATA{ VN I A o ooealoly Biw W - lo e TR B xi w‘f'ér“ L ’f-&ﬂt I Bt
N 4 W i H
By el !
‘ /3

I worked this out by
subtracting the ones first

6-4=2
then subtracted the tens

50 -30 =20

and added the answers
together to make 22.
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Aim

I can subtract numbers using a formal method.
* I can subtract numbers with up to three digits.
* I can subtract numbers crossing the tens boundary.

* I can subtract numbers crossing the hundreds boundary.
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